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Please make sure that the printed pages in this question paper are 16 in number
and it contains 47 questions.
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The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written,
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Don't leave blank page/pages in your answer-book.

o TACIRTH ol @ o dfe T Py I STTEATAT & frd ot ey g 7
el

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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Candidates must write their Roll Number on the question paper.
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Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination. - .
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General Instructions :

i e ST &
All questions are compulsory.

Marks of each question are indicqated against it.

(i) 7 7% 1 & 35 7% Fugine gy & T T | o a7 & s ad gav o
Ty A fras &

Question Nos. 1 to 35 are objective type questions carrying 1 mark each.
Candidate have to write the correct answer in their answer-book.

(iv) 57 #7% 36 i 40 7% - TqTvHE I97 & T% 997 2 HEH W Y a9 ge 7
T TTHT 30 I=F F Hrw

Question Nos. 36 to 40 gre very short answer type questions carrying
2 marks each. Answer these in about 30 words eqch.

(v T % 41 45 T TgTIEE 9 & T w3 e b JoF 97 & AT
TTHT 40 s & ffory

Question Nos. 41 to 45 are short answer type questions carrying 3 marks
each. Answer these in about 40 words each,

(V) 797 F9% 46 07 47 I FTOE T & T0F 797 5 a7 J9F 997 F FA0
T 70 g=51 §F oy

Question Nos. 46 & 47 are long answer type questions carrying 5 marks

each. Answer these in about 70 words each.

Vi) 59797 F gug w7 @ 35 %7 T & Tt s o i A g § aaie a9
IR frar mr & 07 el § @ onva F7 0% & ge Fe

. . . . . n

There is no overall choice. However, internal choice is given in both Iohi
t
answer type questions of 5 marks each. You have to attempt only one of

gwen choice in such questions.
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54 g T & e Ay ¥ 7

(A) 2.0 B) 2.5
(€) 3.0 D) 3.5
Number of moles in 54 g of Water are :

(A) 2.0 (B) 2.5
(C) 3.0 (D) 3.5
SR T ¥ R oo gam 2 & 2

(A) 1 B) 2
€ 3 (D) 4

Find number of unpaired electrons in Oxygen atom :
(A) 1 B) 2

C) 3 (D) 4

B,Az,MgamKaﬁf%mmaﬁawzﬁrﬁs?m#w:

(A) B> Al>Mg > K
(B) Al)Mg>B > K
(C) Mg >Al>K>B

(D] K}MQ?‘AI:’B

2029
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i K in correct order of their metallic character
My A
13, Al

o Mg AP K>E

of K> Mg AL P

' ?
4. o orad A R St & ¥

(A) 2 (B) 8

() 32 (D) 18

(A) 2 B) 8
(C) 32 (D) 18
5. -1 A g R et el R 7
&) CO, (B) BF;
(C) H,0 (D) ccCly

‘Which compound do net show zero dipole moment ?

by co, (B) BF;

(C) Hy0 Js(r ‘ cpt4
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6. czzaﬂrcczﬁﬁmwmam_mqagm%? 1

(A) figﬂ—ﬁfga EK|
(B) faya-dw fage =
(C) Wl T
(D) FERI 9
Which type of intermolecular force exists in Cly and CCl, ?
A dipole-dipole forces
(B) dipole-induced dipole forces
(C) dispersion forces
(D) hydrogen bonds
fre e @ X9 H T e S ©
(A) 0°C | B) 0K

(C) O°F (D) W & #g T

The temperature at which the volume of gas is zero ?
(A) 0°C (B) OK

(C) 0°F (D) None of these

PTo
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(6)
3 58 Rt § 81 & fo
g @ S
n AT=0 (B) AP=0
c =0 D) w=0
For the process to occur under adiabétic conditions, the correct condition 1s :
S aT=0 (B) AP=0
4 a0 (D) w=20
9. .o @ pH frT g7
o) 74 (B) 9.2
€ 78 (D) 6.4
The pH of Human Saliva is :
w74 B 92
© 78 D) 6.4
KClO; czaareﬁa—;ﬂwmw%?
(A) 45 B 3
(C) +1 | D) -1
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(7)

The oxidation number of Clin KCIO3 s :

(N/ +3 (B) +3
(C) +1 (D) -1
SO7" % BeHt N et wer w1 ¥ 7

(A) -2 (B) +6
(C) +3 (D) +4

The oxidation number of Sulphur in SOE' IS :

a) -2 B +6
(C) +3 (D) +4
S 3 wee @ we e ¥ 7

(A) 2 (B) 3
(C) 5 (D) 4

How many isotopes of Hydrogen ?

(A) 2 (-B)/s

(€) 5 (D) 4

20,
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13. eregior a1 A e v *
(A) 0.0V (B) 1.0V
(C) -1.0V (D) 2.0V

_).

Standard electrode potential of Hydrogen is :

-

e

{A) 0.0V _ (B) 1.0V
(€) -1OV (D) 2.0V

14. ﬂﬁazs@a'mqa.w%?
(A) Ca(OH), (B) NaOH
(C) KOH (D) NayCO4
What is formula of Caustic Soda ?
(A) Ca(OH), . (B) NaOH
(C) KOH (D) NayCOs
15. R &l o1y @ T T e 7
(A) Na - | B) K
(C) Rb (D) Cs
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Which alkali meta] having least melting point ?

(A) Na o

o MCS-

6. ST S X 3 a1 el A ® 7

n (B) I3

; | (D) Pl

) Thermodynamically the most stable form of Carbon is -
(A) Diamond (B) Graphite
(C) Fullerenes (D) Coal

17. Cpllny-2 fehetenl AMY ﬁaf % ?
(A) T B R

(C) T I

C.Ha 5 1S general formula of :
-t 2p-2

(B) Arencs
y) Alkanes

{D] Alk}'ncs
(C) Alkencs
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19.

20.

21.
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m%w@awﬁmﬁﬁmﬁmm%? 1
(A) S (B) ¥
(C) #Hidw (D) A

Heating a mixture of sodium acetate with soda-lime gives :

(A) Propane (B) Ethane
(C) Methane (D) Butane
34.216 I 0N TF Si a% P i

Round up 34.216 upto three significant figures.

Frfeiiaa e & R ot ey & ?
Mg’ Mg2+, AI’ Al3+
Which of the following species will have largest size ?
24 T3+
Mg, Mg*", AL Al
p-&ifd Tl F T R [ fef

Write general electronic configuration of p-block clements



22.

23.

24.

25.

26.

2ﬂ1n

(11)
Wﬂﬁmw%?

What ig Boyle's Law ?
T B N oy Re¥ By & 7

What is Constant in Charle's Law ?

SR fafy ay &
What is oxidation process ?
Frtferiae i % orvarms @ 2 7

7n + CUSO4—> ZnSO4 +Cu

Which is reducing agent in the following reaction ?

Zn + CuSOs——— ZnS0s +Cu
7
Na, Kd & maﬁa il 5

; K?
Why is Na less reactive than

.
""""
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28. Li T O I am fooidt AP ... 3 !
Binary compound formed by Liand Ois

.................

29, gﬁmmqﬁws‘n VWPﬁWW%,WWWW% .............
FEl 8l _ .

Each line of V Vs, Pgraph at constant tempcratufc is called ........c.cceenns .

..............

32. Tt 133 MWYRE ..o FEar B 1
Group 13 hydrides called .
33. KO, ¥ K #I Sifiexy §&r ............... ¥
1
............... is oxidation state of K in KO, .
34. 7 13 Li, Na, K, Rb, CS U ........... %eamd §
1
Group 1 Li, Na, K, Rb, Cs are called .. metal
........... \ S.
35. &% F FET B BT oo, T & Y
1
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36. NaOH % Ry -
SISE e e P, fordy 4 4, NaOH )

q II Iq M7 Ly

NaOH in water to form 250 mlL of solution,

37. 0.1 kg %M 3R 10 mg- laﬂ@fﬂ%wwwﬁaaﬁrmwﬁ?

What will be the wavelength of a ball of mass 0. ] kg moving with a velocity of
10ms™! ?

s
&

38. ot @ 71 ¥ ? o7 3w AR

p
What 1s enthalpy of formation ? Give one example,
39. FE #RH NH3; T HCOO™ & Hgnft avay Fam & 7 ¢ 2
What will be the conjugate acids for the Bronsted huscs NHy and HCOO
40. R 0 ¥ 7 T S e wed A 2
What are Electrophiles ? Give its types with examples.
, Rrgm @ IEEIT Wed AT B
41. gz a1 SH TEEN b

i Itiplicity with example.
. . le of maximum multip
Explain Hund's ru

42, Eia.ﬁmsﬁng e "

tem intensive properties and internal encrgy.
. ed sys ’
Define clos

2029
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43, mmmﬂm-aﬂﬁmaﬁw%mqﬁﬂﬁﬁﬁ

Define acid and base with example in Bronsted-Lowry concept.

44, sige Yo, RRT TR SIS qUT SO @ AATCA P

Explain catenation, inert pair effect and allotropy.
45. frfafed & 1UPAC T R

@ / AN

ClI" v

O
© A/\
Cl H
(C’ W
Give JUPAC names of the following :

@) W
ClI' Br

0]
o /\/\
Cl H
(c) /\/\/\
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4. T T B GO Y T T AR ¥ 7 op, sp? A sp® T FHH P A
TR died aue B >

What is meant by hybridization of atomic orbitals ? Describe the shapes of sp,

2 :
sp” and sp3 hybrid orbitals with example.

OR

STET B A oY F T § ? Ny, O, 03 T O ¥ ordy A W RGBT

What is meant by the term bond order ? Calculate the bond order of Ny, Og,
05 and O7.
47. (i) oW A AT 5
What is Wurtz reaction ?
(id) WWW%?Wﬂﬁﬂwml 4
What is Markownikoff rule ? Explain with example.

UG

OR

2029
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() sy Fre g € ? geeRer s @ H 3

What is anti- Markownikoff rule ? Explain with example.
(i) SR TR e @ g 7 2

What is Friedel-Crafts alkylation reaction ?
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